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(1) 6cm?> = odL

(2) 1L = omL

(3) 7TmL = oL

(4) 7dL = omL

(5) 4m°> = odL
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HoBmE KB

(1) 6cm?3 = 0.06 dL
<fRE>
1L=10dL. 1L=1000cm3% ® C10dL=1000cm>

1dLI£1000+10=100cm?
£2T. 6+100 = 0.06dL

) 1L
<fEER>

IL=1000mL

1000 mL

(3) 7TmL
B>
1L=1000mL
&£2T. 7+1000 = 0.007L

0.007 L

(4) 7dL = 700 mL

BB

1L=10dL. 1L=1000mL7E M T10dL=1000mL
1dLIZ1000+-10=100ml

&2, 7x100 = 700mL

(5) 4m°> = 40000 dL

<fEE>

1m3 =ImxImxIm
=100cmx*x100cmx100cm
=1000000cm?

1L=1000cm>Z DT 1m3(£1000000+1000=1000L

IL=10dLIZD T, 1m3£1000x10=10000dL
£2T. 4x10000 = 40000dL
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